1.

oh2 179] AABC oA £C =
ofet,

900 o] HH SmA—}—tanA —’] 7]—0

O

]_



2. tanA =4 ¢ o, sin? A — cos2A 9] & otz (H, 0° < A < 90°
)

e
=



3.  sin0° X cos 60° 4 cos 0° X tan 45° — sin 45° X tan 60° =7

®1—§ @1+§ @1—?
@1+ﬁ @2—£

2 92



4.  cos60° x tan 60° + sin 60° = AAISHA?

D 2 ® 3 3 2 @ 242 G 24/3



5.

ohg 49] ghe?

sin? 30° + sin® 60 ° — tan 30 ° X tan 60 °

@D 343 @ 242 3 V3

@ 2



the D go] AxHES O T L} x Fu} o] WO of
2izko] 2718 o ek @, y B ¢ o g Fateleh (W,

sin 27° = 0.45, cos27° = 0.89, tan27° = 0.51 & A4St




o
oo
2
3
=z
1o
B
i
H
R
o+
&
=
ot
~

[
=,
=
ot

w
+
Q
@]
w
ot
[N}
1o
=
o

4

_O|L
B
)

Afel TAR2 EtHE
(sin) (cos) (tan)

52° 0.7880 0.6157 1.2799
GEN 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
G 0.8192 0.5736 1,4281
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@ sin z cos T tan x

43° 0.6820 0,7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000

46° 0.7193 0.6947 1,.0355

47° 0.7314 0.6821 1,.0724
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43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
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